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P_nom = tf(1,[1 0]) P(s) =
o (s)

W2 =tf([1 0],[1.5]);

D = ultidyn('Delta',[ 1 1]);
T = feedback(P_nom*K,1); (s)

figure(1)

nyquist(P_nom*K*(1 + W2*D))
figure(2)

hold on

bodemag(T)

hold on

bodemag(1/W2)
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P_nom = tf(1,[1 0]) E
K=1; s
1

W1 = tf([1],[1.5 0]); 1

S = inv(1+P_nom*K) 1

figure(3)
bodemag(S)
hold on
bodemag(1/W1)
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ﬁle7_3 m é %E"ﬁ' [gain_W1S,phase_ W1S]=bode(omega, W1*S);
omega=logspace(-2,3,100); P(s) = 1 gain_W1S_dB=20*log10(gain_W1S(:));
S
_ K(s)=1 [gain_W2T,phase_ W2T]=bode(omega, W2*T);
E{Oﬁl L[ 0D (=) . gain W2T_dB=20*log10(gain_ W2T(,));
’ Wi(s) = T
8 WI1SW2T=gain_W1S+gain_W2T;
W1 =tf([1],[1.5 0]); ; ! _ _W2T;
w2 :tfg{llo[] 1 SB Wa(s) = 1i gain WISW2T_dB=20*logl0(W1SW2T(:));
sLte B D
: 1 figure(5)
D =ul "Delta',[1 1]); T(s) = sur )
T~ eadback(P mom 1) W PORE) semilogx(omega,gain_W1S_dB(: 1).b):
- ¢ ] >1)s hold on
= HR * * .
- ’ hold on
figure(4) semilogx(omega,gain_ W1SW2T_dB,'m');
bodemag(Stilde) grid on
hold on
bodemag(1/W1)
grid on
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P(s) NEEs 8 08 3 P_nom = tf (K_nom, [T_nom 1 0]) —_—
Py(s)y—-P(s) | ] . P 1
2200 7 28 e o )
P(s) -10 =ree S figure (1) S0 =
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Py(s) = P(s) -20 y(’,/// hold on S //
P(s) 2 grid on 60t
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s hold on !
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hinY / set (gca, fontsize', 16)
-60 set (gea, "xtick', [1e-2 1e-1 1 lel 1e2 1e3])
e W2 =
. ey LN EALT, W2 ISR E |
= 7 - 7 3 bodemag W2, ' g’ )
10 10 s Oads) 10 10 hold on
13 14
D & 5.1 EXRBEROR—FRE
;r/i;tr;‘ iim@ %5% h[;(:j v—nmh FAORITO) HIFOW ALTE) - i G(S) B4 ihiE vk c ]z f
B i dB 201og | K|
o #—FRE _ v K 0° w
S i ; 0 “
- — / | dB 1 ) 90°
@ i ; s 0 -
S -1 S ! 20dB/dec 0w
2 Ve H
=% 7 : dB 1 —20dB/dec [ —————
~60 B i g 0 w 90°
_ :
V oC 90° w
. 4B 4 20dB/dec
107! 100 magOhaw 10 10° E : Ts+1 0‘_‘4. w 0°
; i YT 0.2/T 5/T
, : . FEra— 0T ST
— - 0 w -
‘ 3IDDIEERBBICHETED ‘ Tstl —20dB/dec —90°
P Wn
g ST w o i N
2(8) = 2 ) 2 } “
Tos+1 15 52 4+ 20w s + w2 Wn _180° 16

EFTE I —RN\vOHEROONINERERT

7.1 REMSEONRME
7.2 ONAMREM
7.3 FlEtEREO O/ AR ME

F—)—K . THENS, AONALLEM®
A/ ERE

FEEHEZ . MATLABZAWT, ETI/ILORFEMNE, O/

bREM, ONAMEREEHER T HENTED,

17




